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Which pronoun placement is correct in a negative command?

O After the verb

O Before the verb v

O Attached to the verb

(O Between the verb and the subject

In a negative command, the pronoun should be placed after the word 'do not' or 'don't'. For example,
'Don't you go there.'

What is the correct negative command form of the verb "hablar" (to speak) for ti?

O No hablas

O No hables v
O No habla

O No hablais

The correct negative command form of the verb "hablar" for ta is "no hables." This form is used to instruct
someone not to speak in an informal context.

What is the negative ti command form of "coner" (to eat)?

O No comes

O No coma

O No comas v
O No comais

The negative tG command form of "coner" is "no comas." This form is used to tell someone not to eat
something in an informal context.

Describe the role of pronouns in negative commands and provide an example.
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| In negative commands, pronouns indicate the subject being addressed, as in 'Don't you do that!"

List three verbs with irregular negative tG command forms and their correct command forms.

| 1.Ir-no vayas 2. Ser - no seas 3. Saber - no sepas

How do spelling changes affect the formation of negative ti commands for verbs ending in -car, -
gar, and -zar? Provide examples.

Negative tt commands for -car, -gar, and -zar verbs require spelling changes: 'sacar' ->'no
saques', 'jugar' -> 'no juegues', 'almorzar' -> 'no almuerces'.

Explain the process of forming a negative ti command for regular -ar verbs.
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For example, to form the negative tt command for 'hablar', you take 'hablo’, drop the -o to get
'habl', and add -es to form 'no hables'.

Identify the correct negative ti commands for the following verbs:

(0 No tengas v
(J No hagas v

(J No vengas v
(J No salgas v

Negative ti commands in Spanish are formed by taking the present subjunctives of the verbs and adding
'no' before them. For example, for the verb 'hablar', the negative t command is 'no hables'".

Which of the following verbs has an irregular negative td command form?

O Hablar
O Tener v
O Vivir

O Comer

In Spanish, the verb 'ir' has an irregular negative tG command form, which is 'no vayas.' This differs from
regular verbs that follow standard conjugation rules for negative commands.

What is the negative tG command form of "ir" (to go)?

O No vas

O No vayas v
O No vaya

O No vayais

The negative tu command form of "ir" is "no vayas." This form is used to tell someone not to go
somewhere.
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Why is it important to use the yo form of the present tense when forming negative tt commands?

It is important to use the yo form of the present tense when forming negative ti commands
because it allows you to derive the correct conjugation for the command, ensuring proper
grammar and clarity.

For the verb "jugar" (to play), what is the correct negative tG command?

O No juegas

O No juegues v
O No jugas

O No jugues

The correct negative td command for the verb "jugar" is "no juegues." This form is used to tell someone
not to play.

Which of the following verbs require a spelling change in the negative tt command form?

(] sacar v
(J Llegar v
(O Empezar v
() Beber

In Spanish, certain verbs undergo a spelling change in the negative tU command form to maintain
pronunciation. Common examples include 'car' (c -> qu), 'gar' (g -> gu), and 'zar' (z -> c).

In negative commands, which pronouns are placed before the verb?

(1) Direct object pronouns v’
(J Indirect object pronouns v’
(J Reflexives pronouns v’

(U] Subject pronouns
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In negative commands, the pronouns 'me’, 'te', 'se', 'nos', and 'os' are placed before the verb. This
structure is essential for forming correct negative commands in Spanish.

Which of the following verbs are stem-changing in the negative tt command form?

(J Pensar v
() Dormir v
(] Correr

(O Volver v

In the negative tu command form, stem-changing verbs maintain their stem changes, just as they do in
the present tense. Examples include 'no duermas' (from dormir) and 'no pienses' (from pensar).

Which of the following is a correct negative command for "dar" (to give)?

O No das

O Nodes v
O No da

O No dé

The correct negative command for "dar" (to give) in Spanish is "no des." This form is used to instruct
someone not to give something.

Provide a sentence using a negative ti command with a reflexiv pronoun and explain its structure.

| No te preocupes.

Select the verbs that have irregular negative t0 command forms:

(O Estar v
() Saber v
() Comer
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Irregular negative tG command forms include verbs such as 'ir' (no vayas), 'ser' (no seas), 'estar' (no
estés), and 'saber' (no sepas). These verbs do not follow the regular conjugation patterns for negative
commands in Spanish.

Which of the following are steps to form a negative tt command?

() Start with the infinitives form

(] Use the yo form of the present tense v’

() Drop the -0 ending v’

() Add -es for -ar verbs and -as for -er/-ir verbs v’

To form a negative tu command in Spanish, you typically start with the present subjunctives tu form of the
verb, add 'no' before it, and adjust for irregular verbs as necessary.

What is the correct negative ti command form of "ser" (to be)?

O Noseas v
O No eres

O Noes

O No sois

The correct negative td command form of "ser" is "no seas." This command is used to tell someone not to
be something in an informal context.
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